We will find the equivalent resistance between terminals A and B.
When a circuit has a ladder shape like this one, it’s usually better to begin analysis on the side opposite the terminals. 

We’ll start at the right side of this circuit.

Since the current through the two 1 k-ohm resistors is the same, they are in series.

To combine resistors in series, add their resistance.

The two 2 k-ohm resistors are in parallel.

To combine two parallel resistors, add their reciprocals and take the reciprocal of the addition. 
You can also divide the product of the resistances by their sum. This second method only works when two resistors are in parallel.

Now we combine the two 1 k-ohm resistors in series.
Now combine the two 2 k-ohm resistors in parallel.

Now combine the two 1 k-ohm resistors in series.

So the circuit’s equivalent resistance is 2 k-ohm.

